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HIGHER SECONDARY SECOND YEAR - MATHEMATICS PUBLIC ANSWER KEY-MARCH 2025

TYPE A TYPE B
Q.No. | OPT ANSWER MARK | Q.No. | OPT ANSWER MARK
1 a |N 1 1 b | 1 1
V2
2 d |2 1 2 a |m 1
3 d (1 1 3 d | 2xu 1
5
4 d |25 1 4 a |N 1
5 a |12 1 5 d l 1
5
6 a |19 1 6 a |(1,0) 1
7 b |y=x3+2 1 7 d |25 1
8 b |[1,2] 1 8 b 1 1
= f'(x) dx
f(x)
9 d | 2xu 1 9 b |[1,2] 1
10 b |2 1 10 d |2 1
1 3
11 b L (140 1 11 ¢ |ma’ 1
V2 6
12 b |14+ 1 12 a |12 1
13 d |0.25 1 13 b |T 1
6
14 c | 1 14 a |19 1
2
15 a | (1,0 1 15 b |14 1
16 b | T 1 16 c | 1
6 . 2 :
17 C ma” 1 17 b t—(1+1) 1
6 V2
18 [ b | 1 1 18 | b |y=x3+2 1
\2
19 a |m 1 19 d |25 1
20 b 1 1 20 d |2 1
—f'(x) dx
oMU
PART - 1l
Q.No. ANSWER MARK
21 ladj Al =9 1
1 171 2 2
A=t ——(adjA)=%Z|1 1 2 1
|ad] Al 3 2 2 1
1 1 x—1i
Q)= e ) !
z X+ 1y x? +y?
X 1
x? +y?
23 Ry T mTm 2
tan™!(—V3) = -z € ( > 2)
24 m=4,a>=9 1
c2=a’?(1+m?)=9x17
c==13v17 1
25 The slant asymptoteisy = x — 11 2
26 F(tx,ty) = t'F(x,y) 1
F is a homogeneous function and degree is 1. 1
27 J dy _J dx
J1—y? V1 — x?
1 1

sin"ly =sin"'x +sin"1c
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28 @

j f)dx =1 1
L 4

fa)={21" +<*< 1
0 , Otherwise

29 The roots are —2 + i 1
Polynomial root is x? + 4x + 5 1

30 2a a
J;) f(x)dx=2j;)f(x)dx 1
f(2a ) = flsin(r — )] = flsinx] = f(x)

- L
2
f f(x)dx=2f f(x) dx 1
0 0
PART - 1l
Q.No. ANSWER MARK
31 |[Al=1=#0 1
.. _[-2 5 1
adj A = [ 1 _12]
—pa-1_plt oAl [11 1
X = BA _B{IAI ad]A}—[ h ]

32 |Zy| = V100 =10 1
1Z] = 1Zol| < 1Z + Zo| < |1Z] + 12| 1
8<|Z+6+8i|]<12 1

33 Co-efficient of even and odd power equal ,x = —1 1
7x2—=50x+7=0 1
The solution is —1,7 and % 1

x +
34 tan~lx + tan~ly = tan™? [ y] 1
1—xy
2 7 1 2
g e
an 11 + tan ) an >

35 _,]r 0 1

G+¢ a+b a+b+él=[dbel|l 1 0 2
LY S S
G+¢ da+b a+b+dl=[abc 1

36 du Jdu dx OJu dy 1
—=—X—t+—X—
dt Jx dt Jy dt
du 4Nt 2 3 1
i 2xy + 3y*)(e") + (x* + 12xy°>)(cost)
du
—== (2etsint + 3sin*t)(e?) + (e?t + 12etsin3t)(cost) 1

37 g dx S gseczx dx 1

0 1+45cos2x Y0 sec2x+5
T sec?x dx
= fz
0 tan2x+6
— [*_4t
0 t2+6 1
s_dx  _m 1
0 1+5cos2x _ 26
38 (1x200)+ (4 x100) + (6 x 50) — (2 x 600) 1
EX) =
600
EX) = 300 _ 0.5 2
600
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39 AR bgyﬂjoaatll%lel;ct Y — LA VA AL fPSc-con
fX)=x3+2x+1 f2)=8+4+1=13
f'(x)=3x%+2 f'2)=12+2=14 1
f"(x) = 6x ') =12
f"(x) =6 f'(2)=6
f( a) f"(x—a) f”’(x—a) 1
fO) = FG) + (x = ) ==+ (¢ — @) o+ (x — )} g —
12 6
f(x)=13+(x—2)14+(x—2)27+(x—2)3g 1
fx) =13+ 14(x —2) + 6(x — 2)? + (x — 2)3
40 axb=a+b—ab+7
(3) am =22 1
37 3m 87
M= 1
__=- 1
M5
PART - IV
Q.No. ANSWER MARK
41.A A=6+0 1
A=12,A,=—6,A;= 24 3
(xl' x2'x3) = (2'_1'4) 1
41.8 __2cost 1
~ 7sint
Equation of tangent: 2x cost + 7y sint = 14 2
Equation of normal: 7x sint — 2y cost = 45sint cost. 2
2A | (Z-1)P3+8=0 1
1
7 =1—2(cis 0)3 1
Z—1—2[as( )] where k = 0,1,2 2
The rootsare —1,1 — 2w and 1 — 2w?. 1
42.B The curve intersectingaty = —1 & 2. 2
2
9
f_1(2+y—y2)dy=§ )
Diagram 1
43A | 6[x2+5]-5[x+3]-38=0 1
X X
6y —5y—50=0
At 1 2
The solution are 3,5, —2 and — 1
43B | dy x*-—3y?
dy x*-3y
dx 2xy 1
N dv N 1-3v% \
v xdx 2v. 1
2v dx a
JUZ —1 dv — 7 =0 1
log|v? — 1| — log|x| = log C 1
y2 — x2 = fex® 1
44 A Equation of parabola : x? = —4ay 1
4 225 1
a =
10
Required height = 10 — 1.6 = 8.4 1
44B | G=cosai+sinaj, b=cosBi+sinpj 2
a- IE = cos(a — ) .
a-b =cosacosf +sinasinf 1
cos(a —B) = cosacosf + sinasinf 1
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454 | p=Sgq=1n=9 3
8\3 [1\°
PIX =3) = 9G; (3)9 (5)0 1
8 1 1
P(X =0)=96(3) (5)
45.B Foci(h + ae, k +0) = (+£2,1) 1
(h,k)=(0,1)andae =2,a =4 &b?> =12 3
2 _1\2
Equation of ellipses: % + (y121) =1 1
46A |G=j—5k  b=20+3j+6k C=1+j—k 3
Non-parametric form : 7. (-9t + 8/ — k) = 0 1
Cartesian form: —9x + 8y —z =13 (or)9x — 8y +z+ 13 =0 1
468 | A=Cek 2
log 3
t 0 50 50( )
log 2 3
A A, | 24, 34,
47.A | Volume of the cylinder v = nr?h 1
hzé(a—r) & r=22
a 34 2
Volume of the cylinder= 5 volume of the cone. 1
Diagram 1
47.B
plqg|r|qVr | pAQ@Vr) | pAg | pAT | (pAQ V(P AT)
T| T | T T T T T T
T T F F T T T T
T F | T F T T T T 4
T F F F T T T T
F T | T T T T T T
F T F F F T F F
FIF[T] °F F F T F
FIFIF] F F F F F
1

The column 5 & 8 are identical
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